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4 = 0.016(29) x = 0.915(73) => 0.915(73)
med(mad)
T T I T T

A Q@) z

1.51878

f) (10717 erg em™2s7'87")

BLR

-1

-2

& and x

-2

Continuum Lightcurve

med(mad)%

Ac(24228) 4.3k

p.8)% S/N 87

18618 ) 24228 )

7500 8000

MJD — 2450000

BLR Lightcurve

-5

S/N BLR 8.3 Mgll 42 CIHI] 39 Hell 18 CIV 46

" " 1 " " " " 1 " " " " 1 " " " " 1 " " " " 1
7000 7500 8000 8500 9000
MJD — 2450000
Phot Corrections
rm445 med(mad)%
T T T T T T 1 T T T

1.2

Ap 100.00(88)% S/N —8.9
Prior(Ap) 5.0 %

7500 8000

MJD — 2450000

u = 0.0188(68) x = 0.913(19) => 0.913(19)
med(mad)
— T 1

0.5
T

N

7500

8000
MJD — 2450000



